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6.3-6.5
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1. Convert (1,-2) from rectangular coordinates to polar coordinates. y=rsinf tanf = y/x
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2. Convert [6,2—;] from polar coordinates to rectangular coordinates. Your answer must be exact for full
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3. The graph of » =5sin8¢ is a flower shape. What characteristics would the graph have? What type of
symmetry would the graph have?
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4. Graph r* =9co0s26 5. Graph r=1-2cosf




z" = [r(cos 6 + isin@)]"* = r"(cosnb + i sinn@)

6. Convert to rectangular form
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7. Convert from rectangular to polar form.
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8 Convert the complex number 2 +2i to a complex number in polar form Express.your. final answer 1n
radians. )
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9. Write the complex number z=12(cos60° +isin 60”) in rectangular form (exact answers).
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10. Find the product when 11. Find the quotient when
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12. Find the indicated power: z, = 2(00510" +i sinl()")3
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